ﬂll’_'th - ber line.
On y.-whole numbers

their difference as
as remainder. The
(a) 220030

(©) 1220
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MOCK TEST-2

(c) 11 (d) 21 (d) 31 (b) 41 (a)

2 (a) 12 (a) 22 (b) 32 (b) 42 (b)
3 (b) 13 (a) 23 (¢) 33 (a) 43 (b) -
4 (a) | 14 (a) 24 (a) 34 (a) 44 (c)
5 (a) 15 b) | 25 @ | 35 | @r] 45 | @
6 (c) 16 (a) 26 (b) | 86 [ (b)) | 46 (b)
7 (c) 17 (c) 27 (c) 37 /< (b) 47 (c)
8 (c) 18 (a) 28 (a) 38 (b) 48 (d)
9 (c) 19 (a) 29 (e) 39 (c) 49 (a)
10 (d) 20 (c) 30 (b) 40 (b) 50 (c)

1. (e¢) 63.3605=6 x10+3 x 1 + 3 x 4. (a) Divisor = 555 + 445 = 1000

1 1 1 1 Quotient = 2 x (555 — 445) = 220

E+6xiO_O+OX 1000 + 5 X 10000 Remainder = 30

Dividend = Divisor x Quotient
+ Remainder
= 1000 x 220 + 30 = 220030.

On comparing with the given
expression we get

A=10,B=1,C=i,D=L, 5. (a) Missinglength=23—(4+5+8)
10 100 =23-17=6cm
B 1 6. (c) Givena =3,b =5,

— 10,000 c=b-a=5-3=9
Required.expression Putting these values, we will
=40 7+ g'ﬁ + 100 + 0.0003 evaluate all the expressions
= 147.600

2. (a) Fractions can also be represented (@) (@e+c)xb=(3+2)x5
on the number line. =5x5=25= 10
) (34 + 20) x 2 =54 x 2 = 105 ®) (@+b)—c=(3+5)-2
Multiplicative inverse of 108
1 =8-2=6210

108"



Raﬁié-ti 12=1:3

Blue marbles = 4x

Total marbles = 7x + 4 'QDI\;?
 xcanbel, 2,3.......

So, total number ;f%r le can

__ ______Ibe11 22,33...

. T=31

imum capacity of a
nerthat can measure the

of three containers exact

nu r of times.
= HC_F (403__, 434, 465)
= 31

14, (a) The raQ

@ Let red marbles = 7x \‘?s

3
= I%M

Hence, the required values are
A=20,B=100.

15. (b) (i) : John uses 12.5 litres of

petrol in a day.
John uses (12.5 x 14) litres of
petrol in 2 weeks (or 14 days)
=175 litres

(ii) : Total distance travelled
=204 km

time = 4 hours

Average speed = *2% 3

=51 km/hr.

16. (a) Area of shaded portion

-n(R2 ri‘a) - b’
- (2242 - 210%)



.P'x 100
00-+P%) ~

1169 x100
(100 + 40)- 40

a
.\;

(1><3) el
T _"':'3_" piece

3+1

= —— piece = 5 .

3

:. Total amount of ca

- 5 WA
both of them = 9 piec




18
§+§_ oy e iece
=g T g plece= —c— P
iy g
=g Piece
=2% piece
gk
25. (a) A: g/& =200 = 100 =0.004

25
B:25%of 75 = ——x75 =18.75

100

C: Average of first eight natural
numbers
ST F 51617138
4 8

36
S = 4.5

135, 135

-

D: 45 4500 0.03

26. (b) Sale in June = 600

75% of 600 = 600 x% < 450

Sale of April = 450 (From the
graph)

27. (¢) Add the number to the reverse
of its digits.
For example : 163 + 361 = 524
Also 1898 + 8981 = 10879

28. (a) In the above figure
41°+y + 113° = 180°
y + 1564°=180° y = 180°- 154°,

y:=26°
29. (¢) -+ 3:25 =3 hours 25 minutes
25
= 3hours —6_6 hours

= 3 hours 12 hours

Hints & Bxplanaﬁon ,
41
T hours
Angle traced by the hourg
hand in 12 hours = 360°

Angle traced by hours hand ip

. 41
3 hours 25 minutes (—15 hours]

360 41

= X
12 12

~ 205°

A2

Angletraced by minute hand in
60 mmnutes = 360°

Angle traced by minute hand in

360 X225
0

25 minutes =

= 150°
Now, the angle between the
hour hand and minute hand

205 300 — 205

= 150°=
2 2
95° 1
SaT 475

30. (b) Let one number be x
then other number = 2x + 1

According to given condition,
x+(2x+1)=19

9. .51 - O-RE i
31. Sum: S = =
®) Sum: o5 +20="95 ~ 22

7
i

Difference:

9 5 g-F AN
22 22 22 22 11



E”‘Ms%um uare is a regular polygon.
) 33. (a) (a® + ab + b?) (a2 - a?_yfao)
- =a*a?-ab-b? +ab(a?-ab-b?)
+b%(a? - ab - b?)
=a*—ab-a?h? + a’b - a?bh? - ab®
+ a’b? — ab3-bt
= a* - a%b? - ab3 - ab® - b?
= a“' - a’b’ -— 2&b3 - '|I)4
34. (a) Let the number of women in the
garden is x.
The number of children = x + 84
According to the question.

9 x+84

o Ox —
5 A 2(x +84)

9x = 2x + 168
9x — 2x = 168
168

X =——=24,.
3] 7

Hence the total number of
children in the garden
=84 + 24 = 108.

HIDE :
35. (a) (a) TTTTTTTTIT Mirror
HIDE

4l

(o) P i
CVKE

(c) 7o Mirtor
200U

20K

36. (b) Weight of apples =2kg 280 g

= 2280 g (Since 1 kg = 1000 g)

Weight of bananas =3 kg 375 g
=308

Weight of grapes = 225 g

Weight of oranges =5 kg 385 g
= 5385 g

(d)

Total weight = 2280 g + 3375 g
+225g+5385g=11265¢g
Thus, total weight = 11265 kg
11265
1000 ke

=11.265 kg
37. (b) Number of spokes = 48

Angle between two consecutive

360° _ [71

48 2

0

spokes =

_ = ' 2 3
38. (b) Requiredlevel = 1 — 55

3
39. (e¢) e 0.6

& 1 4
40.4(b) 5 + S
fraction.
41. (a) Reverse the previous number
and add 1 to the first and second
digit alternately.
42. (b) Here, Ravi starts from home at
A, moves 10 km southwards up
to B, turns right and moves 5
km up to C, turns right again
and moves 10 km up to D and
finally turns left and moves 10
km up to E.
Thus, his distance from initial
position A = AE
=AD + DE
=BC + DE =(5 + 10) km

=10 Km.
10 km

is the required







